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In a class of 100 students, 30 students like o study environment science

only and 40 students like to study cconomics only but 10 students don't

like to study any of these subjects.

a) W4 H=dwr S ¥ E & wRO FErey faee v ader
Aomad T WA qred fradleEdl aqEer sAEgs a1 g
Froqaer 7 9ft farr 79 Awods a= Pt awEars
TIAEHFA] TZHAH TSR |
In the above context, S and E denote the sets of students who like

to study environmental science and economics respectively. Write
the cardinal notation of the set of students who don't like any of

these subjects. (N
b) wiig®r ToraTs AAfETAT I TR |

Present the above information in a Venn-diagram. (1)
c) AU AAGT T U G [qardiwed We g ame ey |

Find the number of students who like to study economics. (3)
d) & n(E) == faardier 30% & 7 Fer R |

Is n(E) = 30% of the total students? Give reason. (1)

afeTiiE T# AGATET T awE | a7 1 adE
WA TP (FaTes SHM € 3307575 34728.75 B |

The half yearly compound amounts compounded half yearly of a sum of
money in | year and I%years are Rs. 33075 and Rs. 34728.75
respectively .

a) A IHA fAeue e 97 TeREN |
Write the formula for finding half yearly compound amount. (1)
b) =ATNEY T Fidl T TAT TMI Ty |
Find the rate of interest and the principal. (3)
| FHIT
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¢) A ARUFAT FHE ATAZTAT WA | AN AiitnE S emy sp

TRTH |
Calculie the yearly compound mterest of the same peineipal in |
year at the same rate of inlerest. (1)

3. A an aipd oEer dGEr AAIEed 28,00,000 T g s
JCR AT 237 5% @ | OF o ke 74,000 Al s
THEZ |27 ) Q00 T HITEEE A 0G|
The population of i city before three years was 25,00,000, The annual
population growth rote of the city 18 5%. One yeae ago, 74,000 peaple
migrated 10 other places and 1,000 died due to disease

a)  AMTE TR qige W@ F G ST |

What is the rate of annusitl compound growth? Write it, (1)
b) ST TEGE 5 ATATEHR! AAMGAT TAT AT |

Find the populution ol the-city before 1wo years. 2)
¢) I URTE A 49 MY ¥ REEET AAAgEn A mfr Preed

R |

Compare the present populntion and pupulation belore. 3. years of

the city- Then write the conelusion. (2)

4. I AT T AR B AU S 128 =L 1 TS| =FF (3284
) O
According to the money exchange rate of a certain time, $1.28 = £ |
and S | = NRs. 132,84,
a) A3 132840 T WA wHPE TR (S) WA AEG ¢ G

amIery |
How many American dollars (S) can be exchanged with
NRs. 1328407 Find ir. (1)

b) FF 15600 T FT WIvE (£) AZA A=} TH T |
How many pounds (£) can be exchanged with NRs.15600? Find it.
(1)
AT TATH AT AT WETAT 2% o AN 331 F
S10.000 F T % 13,00,000 9= aF AW F9qT qEA AiEa ¢
gtz THATH |
Afier devaluation of Nepalese currency by 2% in camparison [0
American dollars, can more than NRs. 13,00,000 be exchanged
with 810,000 Justity it (1)
HEA
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TS ANER AT NE I fefrgan FrEmnr amesa A
20 T 7MW 71 Iew fawmfwgedr smaw spma w10 a3
The area of triangular surfoces of a square based. solid pyramid is 260
square cm. The length of'a side of its-base is 10 em.

u)

b)

FrTe a9 ST |

Write the formula tor (inding the area of triangular surfaces of the
pyramid. (1)
S fafREar amaa oa1 amsed |

Find the volume of the pyramid. (3)

& 9% feafrest @ o gfben dfefrer 50 T rw 77a =
TG & 200« [ 2 FRW R

Does Rs. 200 sufTicient to paint on the total surface of the pyramid
al the rate of 50 paisa per square centimeter? Give reason. (2)

B U AT el T =g 7 e g
An cvent manager has built a cylindrical tent whose radius of the base is

7'm. The open upper part of the tent is covered by hemispherical tent.
The total height of the tent so formed is 7 meter.

a)

b)

XA T AT AT AR GO S aEd ARET S

freeT g7 JeRR

Write the formula for calculating the base area of the combined
solid object made up of ¢ylinder.and hemisphere. (N
uftr @9 FAEX & 135 &1 e ST AAIST AEAVAF T FTTAH
FHETE! AT @9 ToT TSR |

Find the total cost of the required canvas cloth for making the tent
at the:rate of Rs. 135 per square meter. (2)

¢) T Sl MTAT Uid 9T (HeTHT TE9T WiMNes 9% qaaA A9

AT FicT AHES G ¢ T AMSTery |

How many persons can be accommodated on the floor of the
tent where 2 persons can accommodate in a square meter of
space? Find it. (1
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7. wan brarem 60 Pz, o0 Bree 7 80 firge vpmes st AT w
R 34N A mrm W TA AR ) F o, wea 20 TifeT Iraans
TR

A larmer has a trinngulor (feld with sides of 60 meters, 60 meters and
80 meter. He wants to grow maize in the ficld. One kg maize is
sufticient for 20 sq. meter land.

w I FrgoEr Femers g wd e wfa & W sfen 10
T AT |

How many kg of maize is required to.grow in the tnangular ﬁcld"
Find it.

by I FFaETS FTHZTeET sen 5. 2,000 Ffew Uik @ S ﬁm
% 100 FT ZTA AT G Fd ATET 2 G NS |
What amount of total cost should the farmer bear paying -as Rs.
2,000 for lubourer charge and Rs. 100.pér kg maize? Findit. (1)

8. mﬁamuﬁrﬁfmwmmmlm

aver Seh (ISAIT AUl TiEET HHE FoeAl AR F@at

qTEaT | | T

Urvasi madc a music video and uploaded in a social media. In an

interval of every hour, new viewers arc ohserved the video increasing

equally as below.
g92T (Hours) l 2| 3
741 7@ ( New viewers) | 500 [ 550 | 600
a) Tl TFEE FTA ATHIAT FELadE S

In which sequence new viewers are incréasing? (1
b) 10 3 GUETHF SIRT Fier U7 TAFET [THL ? T SNSRI |

How many total new viewers will be theretill 10™ hour? Find it.(2)
c) I HWiwe fafgder w7250 3WF FAREA & TR 10 HOE

AEAVIE & ? 9T TSard |

Doces the music video make 7250 viewers in 10 hours? Find it. (2)

x X . o I
9. a) i A mir g .xa'qé'm_l
What is the value of — — —7 Wiite it. (1)
2+y _2x-y
b) e e (Simplify): 4xz yZ  2x+y (2)
4
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YISt ¢ S1ATE] RIS 307 EHOT 20 4 7 16 3t @ TR

V)
AN ARWAPT el Wi aami 480 O3 0 el
AT |
The present ages of Kamul and Reena dre 20 years und 16
yeurs respeetively. In how many years, the numerical product
of their uges will be 4807 Find it (3)
ol g AW At Rgmwr 20

An exponential equation is given below.
3 —ax3™M +27=0

ia)

b)

uifaed T ¥ T ¢ B AT TAT AMSIATY |

Find the value.of x solving the above cquation. (2)
F o8 W O AR 4 —6%x2"T'432=0 W FH=
TG Qi TR

Do the both values of x satisfy the equation 4%
32 = 07 Justily it.

- 6 % 2X+l +
(2)

|. 732 AT AT 7 F& quETRR T@RE AT 7 MS A= s
‘-Tr'f{ﬂ MATH 7 ASAT @& &7 |

A parallelogram MATH and a ASAT are standing on the same base AT
and between the same parallel lines AT and MS.

a) T9¢ UMK 7 T HAMIT JEREEd  F49E  FHETT

Write the relationship between the areas of parallelograms. standing

on the same base and between the same parallel lines. (1)
b) WA= TS MATH F1 #7% ASAT @1 dwadl =1

g7 T ST a1, |

Prove that the arca of parallelogram MATEH is double of the area of

ASAT. (2)
¢) A=Y I PQRS F =T @I | W, PQ—wvftr

QR = 4 ¥ ¥ ZPQR = 60° T | Ith FAIATY ALl
FAHAGT AT & Il T 6 [ wuRr FeEEr 9 =

TR |
Construct a parallelogram PQRS in which PQ =5 cm, QR =4 cm

and ZPQR = 60". Also construct a triangle hnvmo. one side 6 cm
equal in area to the parallelogram. (3)

35 FTHT
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12 fawm g2 qawe fa=p P2 Q W uf=EE w

w0 WPZ 7 XQY T8 3fur mamwe 7 | TN \
In the figure, two circles inlersect at two \(“”P;
pomts P and Q. WPZ and XQY are two >\ \
/’u\\_/‘> d
X

strught lines.
) AT TR |
Prove that: ZWXQ=£QYZ2  (2)
b) ¥ WX 7 YZ WHAT=R &R ¢ &R fear
Are WX and YZ parallel? Give rcason.
13. REw@r faamr O quar @wfa< &1 | W,

(N
P
ZPQS =53"g |
In the given figure, @ is the center of the circle
\L—)

where ZPQS = 53°.
a) HUTAAT TBT RN PG HH B TS ¢ 4
STETRIA | R

What.is the value of circumferance angle at the

semi-circle? Write it. Q)]
b) £PRQ %1 A =T FMSTa |
Find the value of ZPRQ. (n

¢) & 3 .M. adew vuE gEEer quwe G qSE AT
faftrare qeTerT T{E |
Verify experimentally that the central angle is double of the
circumference angle standing on the same arc by making twa circles
having at least 3. cm radii. (2)
|4, ©Ier 6V3 fret Sarea A draems ISarewa S S5 Gl
tgare fAir=a T @A SiawT 09 AR Sergar Seuar g |
QN TWHT Aifgd qulfees dRe ARAET 60° & HT TS |
An clectric pole of height 6v3 meter is supported by a. wire fixing its
one end on the ground at a certain distance from the foot of the pole, The
supporting wire joining the top of the pole makes an angle of 60° with
the ground.
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e WY a3 b qhzrad fafisenn qarya g

a)

Wi AW |

What 1y the angle ealled made by the line of sight with the

hoton whild observing an object from  downward (o

vprwarnd? Writo 1L (n
by ey g Wi b e

Praw a igure according Lo the. given context, (N
) RATE ) AR O AT

Findl the length of the supporting wire. (N

) oniey meng ST 45 W T TErge #a e afaw @
RN N ¢ AT TR )
How many meters ncarer or fasther should the supporting
wite be fixed so that it makes un angle of 45° with the
ground? Calenlate it (N
15, o vl e afre Fao foamRme aF W 0w B |
The follawing are the marks obtained by the students in an
cxaminahon of Mathematics:
53, 27, 63, 53,46, 58, 78, 21, 39, 51, 32, 43, 52, 59, 33, 45, 40, 32,
60, 63.
a) sfafe= »J:hrn qfel IeEieT qwn e 4
Q=L+ 55X i W £ ¥ & v ¢ e |

7
A-e
What does fdenote in the formula @, = L + 5—fﬂ~x-t to find

the first.quartile of a continuous series? Write it. (1)

b) wiv e wamggere wfeer anime 2030 frw 10 F oA
HIT (R ARERAT dlfdd qARLHaY |
Preparc a frequency distribution table with a class interval of
10. taking the first class interval 20-30 from the above data.

(1)
¢) R qaggFare I o1 Smeer |
Find the:mode from the given data. (2)

7 WA
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3) wbwwh:wmﬁmfﬁﬂ S22

Pos m
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2)

<)

d)

K die 1y thrown and 2 coto s toesed A2 coxde.

oz pIANEB)=P(A) x P(B) &' A T B ¥=11 =70+ I~

DAL |
If P(ANE) =PlA) x P(B). what rypes of evenss are A and
£7 WWrite 1. (1)

CLES ¥ Eg=s 9 7 A2 WA WeEned  WTNIRATE
ETRSTETATAE IETETES AT

Show \ne probebility of all the possible ocuicomes of
ecurrence 2nd nooocrumenee of prime number is a dice in a
iree dizgrzm. 12)

T AT

V/hat )5 the probebility of gening even numbets on dice and
hezd on coin? Find it )
YIZHEE 77 T3 7 (Gl R 97 RIS SIS Ser
R? TZN 7 {HWEETAT ATl 59 IS A9 AR
Compare the probability of getting prime pumbers on dice and
12il on coin with the probability of getting even numbers op
dice and head on coin. ()



